L. Fstimate 1he prodoect first. Solve by wsng the standard alporithen, LS yipur estimeaie lochedk thi

rrasanablaness of the praducy, The First one is dons for youl
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2. Tacheantaioer halds 1 L 275 mi of water. How much water is in 609 identical cantainers? Find the
diffierence betwocn your ¢stimated product and pracise praduct _I,.:‘.{-‘:1 L ;_ﬁrg "'""'Ll

Echimale: 1200ml X 40 Aehial = 1275l ¥ 609
:Tz;i;ml : =776, 415 mi ol ]
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My ackal Product was S51. 1Sl larger than the estindled Procuct,

3. A cluy hed serme money to purchase new chairs, After budng 355 chairs at 5199 each, there was 91068
misineg. Hew much money did the culb bave at fiess?
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The, club had $71,713 before P“mj"lﬂ!nﬁ new Chairs.

4 Lo far, Carmefz bos colected 14 bowes of Baschall cards. Each bog has 315 cards il Carmeclla
eutimata that she has about 3000 cads, 5o she buys & albums tat holdd 500 cards e2ch.

a Wil the albums have encwgn space for all of her cards? e or by moot 7
ELtthlr-‘f'}ml't.Ehﬂ Foom For all her Cands in e albums She haught Cam:lin
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b.  How ma aard:.l:ll:rr Carmella have? 3up XIS = #ﬂp Lt - !
* 31$ & better estimgte. in his o,
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% Carmella ackally has 4,410 Carcis.

¢, How many albums will she need for all of her baseball cards?
Shp@[”:h?_‘f 500, (000, 1500, 2000, 2500, 3000, 3fvo, Hooo, 4500
auso0xspo=19

Sine the dbums hokd SO0 Cands @ach , She’ll need 7 albums & hold all her Gands.




